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Inventory — (aed) gg3aall /6 585 Al /Apulaal) anid (1)
Your goals for this chapter are to learn about:
1.Define Inventory and identify major classifications of inventory. ¢xiad A )i Ciliva¥) paad g ¢ jAd) iy o
2.Accounting for Inventory ¢uAl ¢e dsulaal)
3. Distinguish between perpetual and periodic inventory systems. siwallg ¢ 98l 3 adl dakii) cp Sasail
4.Define inventory costing methods. ¢y al 481 3yl Ciy s

5.Calculate inventory cost under the perpetual inventory system using various costing methods. <ilwial
Aalidal) 481 (3 aladiindy paiesall 3 ) AU JB 0 5Ad) il

6.Calculate inventory cost under the periodic inventory system using various costing methods. 44l cluda)

7.Explain the effects of inventory costing methods on the Financial Statements. A-dlidall 4481l § 2 il 7 i
) cild gt e

Inventory is considered a current asset because a company normally sells it within a year or within its
operating cycle . For a merchandising company, inventory consists of all goods owned and held for sale
in the regular course of business.

i) S AN Cpanday 4 jlail) AS il Ada i) 5 ) gad) o) ALl JA A Bale AS i) (Y A glaia Culd g ga Cp JAY) jeing
Jlae S dpalie W) Sl 590 B aull (a4l Lgn Bliaal) g 4S glaal),

Because manufacturing companies are engaged in making products, they have three kinds of inventory:
CrIAN G £ gl EBU Ll cilaiial) aiual A Lial) clS il oY g

0 Raw materials (goods used in making products) ciaiiall aha b dasiical) ailadl) 4 g¥) 3 gall)

0 Work in process (partially completed products) Lija dlals) cilaiiall) Jadil cas deliay)

O Finished goods ready for sale. gl 5 alal) Al

Accounting for Inventory ¢ iad ¢ dswlaal)

The primary objective of inventory accounting is to determine income properly by matching costs of the
period against revenues for the period . As you can see in Illustration below, in accounting for inventory,
management must choose among different processing systems, costing methods, and valuation methods.
These different systems and methods usually result in different amounts of reported net income. Thus,
management’s choices affect investors’ and creditors’ evaluations of a company, as well as internal
evaluations, such as the performance reviews on which bonuses and executive compensation are based:
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Notice that the goods available for sale are “allocated” to ending inventory and cost of goods sold . This
means that allocating $1 less of the total cost of goods available for sale into ending inventory will
necessarily result in placing $1 more into cost of goods sold (and vice versa). Further, as cost of goods
sold is increased or decreased, there is an opposite effect on gross profit. Thus, a critical factor in
determining income is the allocation of the cost of goods available for sale between ending inventory and
cost of goods sold as in Illustration below:

A GgiAall dal g Y g3 pamadl o) e 13 g A Lal) Ao Layl) A4S g Baal) AN G g Jaall ¢ e 9 anll Barall delad) ) BaY
Gl § deLual) doLiad) 4415 13) (UM Adla) | (usSadly (uSall g) Ao luall doLia) ABIS ) Y g3 plac) ) 3 g pually (5350 i pos B2l
O gell Aalial) alod) ABISH Qarads g Jaad) apaald L aalal) Jalad) Gl ddgd  JlaaY) ) Ao puse il dln (cuals i
slidl Aada il JUiall 8 LaS Ao liall doLiayl) 481 g Baall A ¢y 5al)

Distinguish between perpetual and periodic inventory systems saimalls s g8l 3 ) Aakii) G Saaail)

Companies use one of two types of systems for maintaining accurate inventory records for these costs—
the perpetual system or the periodic system.

saieal) 3 ) alaig oy gall 3 ad) alAT— A8EY ¢ A bl BN (el (ha da) g S ) addiud

1- Perpetual System: saiwall 3 )

A perpetual inventory system continuously tracks changes in the Inventory account. That is, the
accounting features of a perpetual inventory system are as follows:

NS AU 13 Gadlad b 13gd g | aiene JSds G AN Gilua b i panl) paiual) 3 jad) AU il
1.Purchases of merchandise are debited to Inventory. 4sladl cly siday ¢pda & 958l Jaay

2.Freight-in is debited to Inventory. Purchase returns and allowances and purchase discounts are
credited to Inventory. iy fidall cila gaca g <12 53 pa3 (rila g Jalall J Gy juas A1 (ada (g 3l Jrag

3.Cost of goods sold is debited and Inventory is credited for each sale. A4S Jaad a8 Jauy o dles JS 3
G gl g Abae de el dsliay)

4.Subsidiary records show quantity and cost of each type of inventory on hand. A4Sy 4saS (i bl claw
QA A 3AY 0 g5 08
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The perpetual inventory system provides a continuous record of the balances in both the Inventory
account and the Cost of Goods Sold account. 4sladl 48185 cp 33 (e JS Baa ¥ aiesa Joed yaiesal) 3 al) aUS JJany

-

dslal)

2- Periodic System sl 2

Under a periodic inventory system, a company determines the quantity of inventory on hand only
periodically, as the name implies. ¢.gd JSda ¢3ally G A dpas 48 pdl) aaad (g ygall 2 o) allai JB 8

1.Purchases of merchandise are debited to Purchases. 4sbaall cily fiday (e cily idal) Gluwa Jaag

2.Ending Inventory determined by physical account. (el 3l 8aall &) ¢ A daay

3.Calculation of Cost of Goods Sold: 4l Aataally delal) dsliaydl A4S Cuudias

Beginning inventory 100,000
Adds +
Purchases, net 800,000

= Cost of Goods available for sale = 900,000

Subtracts  Ending inventory - 125,000
Cost of goods sold = 775,000

(100,000+ 800,000= 900,000 — 125,000 = 775,000)

Under a periodic inventory system, the cost of goods sold is a residual amount that depends on a
physical count of ending inventory. This process is referred to as “taking a physical inventory.”
Companies that use the periodic system take a physical inventory at least once a year.

= Acland) oda ) Ly B AN G AL il 3 el o ey o) il ddiall 4 Ao luall Ao Lia) AGKS (g gal) 3ol alaT 3B
L) A Baal g8 e JBY) o 09 5aall 3 ad) Alany a gl (g ) 9all 3 jad) addiiedd A1) il Hal) g " ) ¢ g 58l 380 ",

Illustrationl: Faris Company had the following transactions during the current year:

Beginning inventory 100 units at $ 6 = $600

Purchases 900 units at $ 6 = $5,400
Sales 600 units at $12 =$7,200
Ending inventory 400 units at $6 =$2,400
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Instruction: Records these transactions under the perpetual system and the periodic system

Perpetual Inventory System — saiwall 32 Periodic Inventory System s 32l
Beginning inventory, 100 units at $6

The Inventory account shows the The Inventory account shows the inventory
inventory on hand at $600. on hand at $600.

Purchase 900 units at $6
Inventory 5,400 Purchases 5,400
Accounts Payable 5,400 Accounts Payable 5,400

Sale of 600 units at $12

Accounts Receivable 7,200 Accounts Receivable 7,200
Sales 7,200 Sales 7,200
Cost of goods sold 3,600 (No entry)
Inventory 3,600

End-of-period entries for inventory accounts, 400 units at $6 Inventory (ending) 2,400.

The account, Inventory, shows the

Inventory (beginning ) 600 +
Purchases 5400

= 6000

Cost of goods sold 3,600 gk
= ending balance 2,400

($600 + $5,400 - $3,600= 24,00).

Define inventory costing methods ¢x adl 4dlS (3 b Ciy o

How the cost of ending inventory was determined? A general rule: Inventory should include all costs

that are “ordinary and necessary” to put the goods “in place” and “in condition” for their resale.
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L Baley "Alla AN g e A dslay),

Once the unit cost of inventory is determined via the preceding rules of logic, specific costing methods
must be adopted. A company must adopt an inventory costing method (and that method must be applied
consistently from year to year). The methods from which to choose are varied, generally consisting of
one of the following:

G954 A4S Ay Hh adiad ) quag A Al Badae AAIST 3y alaie ) Gupg AlLud) Bac Al L8 g ¢ g 58l (ha Ban o) ARISH 3aa ATy Lalla g
Al 5kl (e Bl g (ha Bale (98T g A8 giia g (e JLEAN Gkl (s AT ) A (e ) paaly A8y ) 038 (G5 () i)
1.Specific identification method: uses the specific cost of each unit of inventory to determine ending
inventory and to determine cost of goods sold. In this method, the company knows exactly which item
was sold and exactly what the item cost.

1. 2 Aeliall doliay) 4&ISH apaas g Saal) Al ¢ g Al aail ¢ g JAall (e Baa g JSI Badacall AAISTY) 204003 1 e i) paadl) 48y b
Saailly San ol) 4GNS AL g a3 Cilaa glf (o) Jasdally A i) G s Ay yhal) oda,

2.Average-cost method: relies on average unit cost to calculate cost of units sold and ending inventory,
the business computes a new average cost per unit after each purchase. Average cost is determined by
dividing total cost of goods available for sale by total units available for sale.

2. AdlS s gla Gudiag g Bl Aqlel 05 Al g Ao Lual) culaa ol 4RI Ciloiad Baa o) A4IC Jau gia o daiad 4AISH) Ja gila 48y 50
gonll dalial) claa gl Alaa) o anll dalial) alud) 48185 Maa) dacdy A8 Joc gia paat oy o)y doles S 2y 1aa Baag,
3.First-in, first-out (FIFO) method: the oldest cost (i.e., the first in) is matched against revenue and
assigned to cost of goods sold. Conversely, the most recent purchases are assigned to units in ending
inventory.

3. Aslual) deliayl) 4GS et g ) L S5 A o (Vg AR (o) dapal) claa o) 1(SiilE) W o) s W g) 3 e 4Ky b
daall A g ial) cilaa gl ot Ulaa 31 jidiall cilaa o) GuSally g,

4.Last-in, first-out (LIFO) method: is just the reverse of FIFO; recent costs are assigned to goods sold
while the oldest costs remain in inventory.

4, Caa gl Laty delual) doLiayl) 4GNS ot Adlal) (ALY giilh A8Luul) 48y jal) (use Lalal & 1(54Y) Vo) i | A) 3 e 48y 4k
Q9Jaall (B A dagalt),

The value assigned to ending inventory is the result of two measurements: quantity and cost. Under the
periodic inventory system, quantity is determined by taking a physical inventory; under the perpetual
inventory system, quantities are updated as purchases and sales take place.

SR (e Apasl) aani Aty g 9ad) 3 ) AUAT caati 4RI g Apast) scliall) (e (i A A Baall Algs ()9 58l daadiall Aol
Cilaaal) 9 il idial) Eaaal LalS ciluasl) Euaal aly ¢ aiesall 3 ) aU2S 3B 8 dedll 3 ja),
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Calculate inventory cost under the perpetual inventory system using various costing methods 44lS ciludal
Aalidal) 4G 5y aladindy jaieeal) ) AU OB & oy 5AT)

To illustrate how each inventory costing method is used under the perpetual inventory system, the
following data will use for the transactions in first month of operations:

cbilaad) (e gedl) JMA cliiaall A cUlnd) addiada jaiaall 3ol alil 3B B 0 3a0) 5k ¢ ARyl S aladiad A8 Flay
Illustration1

Samer Company began July, 2011 with 2 DVDs (Basic Excel Training DVD) in inventory. It had 3 DVDs

at the end of July. The company plans on selling each DVD for $80 to its customers. Table below gives
the inventory data for DVD:

July.1l Inventory 2 units @ $40 each
5 Purchase 6 units @ $45 each
15 Sale 4 units .

26 Purchase 9 units @ $47 each
31 Sale 10 units .

Instructions: computes the ending inventory and cost of goods sold for the month ended July, 2011, assuming
the company used the following cost flow assumptions under the perpetual inventory system:

1- Average Cost
2- FIFO
3- LIFO

1- Perpetual Inventory Record — Average Cost  A&lsl) Jai gia 48y jh - jaiewal) 3 o) alas

Purchases Cost of Goods Sold Inventory on Hand
Date .| Unit | Total . Unit | Total . Unit | Total
Quantity Cost | Cost Quantity Cost Cost Quantity Cost | Cost
by 2 $40 | $80
5 6 $45 | $270 8 43.75 | 350
15 4 $43.75 | $175 4 43.75 | 175
26 9 47 423 13 46 598

65



46 138
$138

66
10 46 460 3

$635 3

31
31 15 $693 14

As noted previously, after each purchase, Samer Company computes a new average cost per unit. For example,

on July 5, the new average unit cost is as follows:
Gy aaal) sas o)) A8lS Jaxa 7/5 (A D 3as) 5l Bas 5l das 48K Jame cntiad AS ) U ) il Aglee JS 2ay Wil 43l 3 LAY o3 WS
PP

Cost of Purchases + Cost of balance

Quantity of Purchases + Quantity of balance
Total cost of Number of
inventory on hand units on hand

$80 + $270 = $350

Average cost
per unit

$43.75

July 5 + 8 units

The goods sold on July 15 are then costed out at $43.75 per unit. On July 26 when the next purchase is made,

the new average unit cost is as follows:
(Y oy daall Jasal) lé deliadl aaa o) 58 & Ledie 7/26 (A5 8aa sl $43.75 Jamay Wil iiai 7/15 (o Ao luall ailiad) o
Cost of Purchases + Cost of balance

Quantity of Purchases + Quantity of balance
Number of

Average cost

Total cost of
inventory on hand units on hand per unit
July 26 (4x$43.75) + (9x $47) = 4 +9units = ?
= $46

175 + 423 = 598 + 13 units
Journal Entries under Average Costing  481S!) Jau gia 48y jlat 188 g dra gil) 3938

Average Cost Journal Entries (All purchases and sales on account)

SAMER COMPANY JOURNAL
Date 2011 Particulars Debit Credit
July 5 INVENTOTY ... 270
Accounts Payable............ccccocevveiiiieiiecee, 270

(Purchased inventory on account 6 x $45)
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15

Accounts receivable ...
SaleS REVENUES........cccceeeiieeeeeeeeeeeeee e
(Sales on account 4 x $80)

320

320

15

Cost of Go0ods SOId........cccovviiiiieeiieceee e
INVENTOTY ..ot
(Cost of Goods Sold 4 x $43.75)

175

175

26

INVENTONY ..o
Accounts Payable............cccooevviieieiicccc
(Purchased inventory on account 9 x $47)

423

423

31

Accounts receivable ..o
SaleS REVENUES .......co oo,
(Sales on account 10 x $80)

800

800

31

Cost of Go0ods SOId.........ccovvviiiiiiieiccscias
INVENTOTY ..o
(Cost of Goods Sold 10 x $46)

460

460




